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Introduction

@ A nonlinear equation:

Letf : @ # A C R — R be a nonlinear real-valued function in a
single variable x. We are interested in finding the roots (solutions) of
the equation f(x) = 0, i.e., zeros of the function f(x).

@ A system of nonlinear equations:
LetF: @ # A C R" — R" be a nonlinear vector-valued function
in a vector variable X = (x1,x2,- -+ ,X,) . We are interested in

finding the roots (solutions) of the equation F(X) = 0, i.e., zeros of the
vector-valued function F(X).
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Example: zeros of polynomial

@ Let us look at three functions (polynomials):
(1) f(x) = x* — 122> +47x? — 60x
(2) f(x) = x* — 1223 + 47x% — 60x + 24
(3) f(x) = x* — 1223 + 47x% — 60x + 24.1
@ Find the zeros of these polynomials is not an easy task.
(1) The first function has real zeros 0, 3, 4, and 5.
(2) The real zeros of the second function are 1 and 0.888.. ..

(3) The third function has no real zeros at all.
(4) MATLAB: see polyzeros.m

@ The n roots of a polynomial of degree n depend continuously on the
coefficients. (see Complex Analysis)

(1) This result implies that the eigenvalues of a matrix depend
continuously on the matrix. (see Tyrtyshnikov’s book).

(2) However, the problem of approximating the roots given the
coefficients is ill-conditioned, see Wilkinson’s polynomial.
https://en.wikipedia.org/wiki/Wilkinson%
27s_polynomial
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Objectives

Consider the nonlinear equation f(x) = 0 or F(X) = 0.
@ The basic questions:

(1) Does the solution exist?
(2) Is the solution unique?
(3) How to find it?

@ We will mainly focus on the third question and we always
assume that the problem under considered has a solution x*.

@ We will study iterative methods for finding the solution: first find an
initial guess x, then a better guess xy, ..., in the end we hope
that lim x, = x*.

n—o0

@ Iterative methods: bisection method; Newton’s method; secant
method; fixed-point method; continuation method; special
methods for zeros of polynomials.
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Bisection method (method of interval halving)

@ An observation: If f(x) is a continuous function on an interval [a, b],
and f(a) and f (b) have different signs such that f(a)f (b) < 0, then
f(x) must have a zero in (a,b), i.e., a root of the equation f(x) = 0.

(ensured by the Intermediate-Value Theorem for continuous functions)
@ The basic idea: assume that f(a)f (b) < 0.

(1) computec = J(a+b) =a+ 1(b—a).

(2) iff(a)f(c) =0, thenf(c) = 0 and c is a zero of f(x).

(3) if f(a)f(c) < 0, then the zero is in [4, c]; otherwise the zero is
in [c, b]. In either case, a new interval containing the root is
produced, and the size of the new interval is half of the
original one.

(4) repeat the process until the interval is very small then any
point in the interval can be used as approximations of the
Zero.
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What do we need?

@ We need an initial interval [a, b]. This is often the hardest thing
to find.

@ We need some stopping criteria: given ¢ > 0 and 6 > 0 are
tolerances, k is the number of iterations.

(1) if [f(c)| < &, we stop.
(2) if |b—a| < 6, we stop.
(3) if k > M, we stop to avoid infinite loop.
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A pseudocode for the bisection algorithm

inputa, b, M, é, €
u<+f(a), v« f(), e<b—a
outputa, b, u, v
if sign(u) = sign(v) then stop
fork=1toMdo
e<e/2, c<a+e w<f(c)
outputk, ¢, w
if |e] < J or (and) |w| < ¢ then stop
if sign(w) # sign(u) then
b<c¢ v+w
else
a4—c, U W
end if
end do

Note:
@ sign(w) # sign(u) is better than wu < 0. (why?)
@ compute midpointasc =a + % rather than ¢ = # (why?)
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An example

Use the bisection method to find the root of ¢ = sin(x).

A rough plot of f(x) = ¢* — sin(x) shows there are no positive zeros,
and the first zero to the left of 0 is somewhere in the interval [—4, —3].

f(x) = exp(x) — sin(x)

y-axis

-5 -4 -3 -2 -1 0 1
X-axis

see functiongraphl.m




Numerical results

The output obtained by bisection algorithm running a MATLAB
M-file, bisection.m

Starting witha = —4and b = —3:

k ¢ £(c)

1 | —3.50000000000000 | —0.32058584426730

2 | —3.25000000000000 | —0.06942092669839

3 | —3.12500000000000 0.06052882585276

4 | —3.18750000000000 | —0.00461629388698
13 | —3.18298339843750 0.00008284596304
14 | —3.18304443359375 0.00001933261037
15 | —3.18307495117188 | —0.00001242395017
16 | —3.18305969238281 0.00000345432045

See the details of the M-file: bisection.m
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Theorem (on bisection method)

Suppose that [ag, by| := [a,b], [a1,b1], - - -, [an, bu], - - - are the intervals in
the bisection method. Then

(1) lim a, and lim by, exist and the limits are equal.
n—00 n—oo
2 = i = i . =
(2) Letr nlglc}oan nlg{)lo by. Then f(r) =0
(3) Letcy, =a, + l(bn —ay). Then lim ¢, = rand
2 n—oo
r — cu| < 27D (by — ap).
Proof:
(1) Notice thatag < a; <ap, <---<bgand by > by > by > --- > ag.
" {a,} is monotonically nondecreasing (i.e., increasing, but may not be strictly
increasing) and bounded above by by ... lim a, exists
g y n—oo
" {b,} is monotonically nonincreasing (i.e., decreasing, but may not be strictly
decreasing) and bounded below by ag  .*. lim b, exists
g y n—o0o
bpyr— g1 = 5y —an)) Y >0 by —ay=2""(by—ap)
nlgn b, — hm ap = hm (b,, —ay) = (by — ao)nlgn 27"=0

lim g, = hm by, say hm a, = lim b, =r.
ﬂ—)OO n—oo n—oo
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Proof of the theorem

@

. f(x) is continuous

o2 Jlim f(an) = f(lim ay) = f(r) and Tim f(bs) = f(lim by) = £(7)
" flan)f (bn) <0

20> lim f(an)f (bn) = f(r)f (r)

S f(r)=0

®)

1 € [ay, by] and ¢, = %(an +by) =a,+ %(bn —ay)
cr—cn] < 3w —an) =2- ) (bg —ap) O

Note: Is it true that [co — 7| > [c1 — 1| > o — 7] > ...7?
Answer: No! = not linear convergence!

linear: if 30 < C < land Ing € Ns.t. |x,1 — x*| < Clx, — x*|, V> ny.

© Suh-Yuh Yang (f

£ ), Math. Dept., NCU, Taiwan MA 8019: Nonlinear Equations — 11/58



An example

If we start with the initial interval [50, 63], how many steps do we
need in order to have a relative accuracy less than or equal to 107122

This is what we want
|r — cnl

7l

<1012,

Since we know r > 50, thus it is sufficient to have

|r — cnl

<1072
50 —
Using the above estimate, all we need is

5 (n41)63 = 50

<1012,
50

That means n > 37.
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Some major problems with the bisection method

@ Finding the initial interval is not easy.
@ Often slow.

@ Doesn’t work for higher dimensional problems: F(X) = 0.
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Newton’s method

@ Motivation: we know how to solve f(x) = 0 if f is linear. For
nonlinear f, we can always approximate it with a linear function.

@ Let x* be a root of f(x) = 0 and x an approximation of x*. Let
x* = x + h. Using Taylor’s expansion, we have
0 = F(x*) = flx+ ) = F(x) + I (x) + O(12).

If i is small, then we can drop the O(h?) term, 0 = f(x) + hf'(x),
which means

~ L) rovided f' (x

Thus, if x is an approximation of x* = x + I, then

X=x+h=xx— JJ:,((?) ,  provided f'(x) # 0.

@ Newton’s method can be defined as follows: forn = 0,1, - - -

Xpipl = Xp — f/((x);)), provided f' (x,) # 0.
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An example

Find the root of f(x) = ¢* — 1.5 — tan~!(x).

Note that f(0) = —0.5, xh_r}n f(x) = o0, and li)m f(x) >0.07.
(o] X—r—00

Therefore, 3¢t € (0,00) and ¢~ € (—o0,0) are zeros of f.

Suppose we start with xyp = —7.0, then the results of Newton
iterations are

xo = —7.0, f(xg) = —0.7 x 107
x;=-107, f(x;)=—-02x10""
x3=—140, f(x3) = —-02x1072
xg =141,  f(x4) = —08x107°

The output shows rapid convergence of the iterations.
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Geometrical interpretation

X Xna1 Xn

@ This is an illustration of one iteration of Newton’s method. The
function f is shown in blue and the tangent line is in red. We see
that x,,;1 is a better approximation than x;, for the root x* of the
function f.

@ What is the geometrical meaning of f'(x;,) = 0?




Some stopping criteria

@ Using the residual information f(x;):

(1) if [f(xy)| < € then stop (absolute residual criterion).
(2) if [f(xn)| < €|f(x0)]| then stop (relative residual criterion).

@ Using the step size information |x;, 11 — Xy |:

(1) if [x,, 41 — x4| < 0 then stop (approximate absolute error
criterion).

@) if |11 — x|
‘xn+1|
criterion).

< ¢ then stop (approximate relative error

@ Maximum number of iterations M.
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Newton'’s algorithm including stopping criteria

input xg, M, ¢, 6
v < f(x0)
if |v| < € then stop
fork=1to M do
x1 = xo — v/f'(x0)
v+ f(x7)
if |x; — xp| < é or |v| < ¢ then stop
Xg < X1
end do

See the details of the M-file newton .m for f(x) = e* — sin(x)

Note: if f'(xp) is too small, then 1/f’(xp) may overflow.
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Convergence analysis

Assume that f” is continuous and x* is a simple zero of f, i.e., f (x*) = 0 and
f'(x*) # 0. Define the error as e, = x,, — x*. Then

eril = Xy — X =1y ,]J:/((’:;)) o
Fln) _ enf(xn) = F ()
f/(x”) f/(x”) .

= ey —

Using Taylor’s expansion, ;
0=f(x") =f(xn —en) =f(xn) —enf (xn) + Eewzvf//(@rn)/

for some ¢, between x,, and x*. Therefore, we have

@) o (L) 5
(*) nt+1 = if/(xn) e% ("“ if/(x*) E% T

Ce%, provided x, = x*).
Define a quantity c; for § > 0 by

€ = %(Ixff;?‘xg ")) / Q;‘E‘fg F'(x)1) >o.

We can select 6 > 0 such that p := dcs < 1. (why?)
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Theorem on Newton’s method

Assume that |ey| = |xg — x*| < 6. Then |y — x*| < § and we have
SIF" (&) /f(x0)| < c5. Therefore,

|1 — x| = le1] < eges = leolleoles < leoldes = leolo < |eo| < 6.
Repeating this argument, we have
ler] < pleol, lea| < pler| < p?leol, -+, lenl < p"leol-

Since 0 < p < 1, we have lim p" = 0 which implies that lim e, = 0.
n—o0 n—o0

Finally, since |e,| = |x, — x*| < é and |§, — x*| < J, we have from (x) that

1"
Uf (€H)|‘3n|2 < 1 ‘@n|2 < 1

2 2
lens1] = 2 1 (on)] 56 < §<C5+1)‘En| := Clen|”,

which implies the quadratic convergence. O
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Theorem on Newton’s method

Theorem on Newton’s method: Let f be continuous and let x* be a
simple zero of f. Then there exist & > 0 and C > 0 such that if the initial
guess xo € N(x*,0) (i.e., |xo — x*| < J) then Newton’s method converges
and satisfies

|Xpp1— x| < Clxy —x* > (Vn>0).

Good: the convergence is quadratic.
Bad: the initial guess xq has to be close to the solution x*.
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Example

Find the root of f(x) = a — 1/x, for any given & > 0 (we know the
exact solution is x* = 1/«). Using Newton’s method, we have

1

Xn

1/x2 7

n

Xn4l = Xn —
which is same as
= 2x, — ax? =0,1,2,---
xn+1 = ZXp “xn/ n=4y,1,.2Z
Questions:

@ Does the sequence xp, x1, X2, ... converge? (<= 0 < xp < %)

@ How fast? (quadratic)

@ Does the convergence depend on the initial guess xp? (Yes)
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Example (cont’d)

Let us define the errore;, = x* — x,, = % — x,,. Then
1

1 2 1 2 2
enH:&—xnﬂ:E—an—i—zxxn:zx(&—xn) = &g

o
Thus, if it converges, then the rate is quadratic. We now have

1 1 2

G = = a(ad ) = (@) = 20 ) = L (ag, )’
1 2 22 1 22 22 1 23 1 2n+1

= ;(““en—Z) = &(’X €2)” = &(“en—Z) = = —(aep)

which implies that

. 1
Xy converges to x* <= lim e, =0 <= |aeg| <1 <= |eg| < —
n—o0 w

1 1 1 1 1
|- —x| <<= —=-<-—x <=
o o 0 o o

!

(B
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Some remarks on Newton’s method

Advantages:
@ The convergence is quadratic.

@ Newton’s method works for higher dimensional problems.

Disadvantages:

@ Newton’s method converges only locally; i.e., the initial guess xg
has to be close enough to the solution x*.

@ It needs the first derivative of f(x).
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Newton’s method for systems of nonlinear equations

@ We wish to solve

{fl(xLXZ) =0,
falx1,x) =0,

where f] and f, are nonlinear functions of x; and x,.

@ Assume that (x; + hy,x2 + hp) is a solution of the nonlinear
system of equations. Applying Taylor’s expansion in two
variables around (x1, x7), we obtain

0=fi(xg +hy,x0+h) =fi(x,x)+mh afl(ail{m + hzaﬁ(a?z'm,
0 :fz(x1 + hy,xp + hz) %fz(xl,xz) +m afzg;ll'm) + hzaf2(x1'x2) .

aXZ

@ Putting it into the matrix form, we have

df1 (x1,x: fy (x1,x
| filxr,x2) ]_i_l fl(ar]l 2) f](axlz z ] |:h1 ]

0 ;
{ 0 } - {fz(xl,xz) Io(x1,2)  9fa(xyx0)

8x1 aX2

© Suh-Yuh Yang ( Math. Dept., NCU, Taiwan MA 8019: Nonlinear Equations — 25/58



Newton’s method for systems of nonlinear equations (cont’d)

@ To simplify the notation we introduce the Jacobian matrix:

af](axllxz) 3f1(axl,xz)
J(x1,%2) = [ afz(;lllxz) 3/'2(;12,962) ]
axl aXZ

@ Then we have
01 | filx1,x2) } [ hy }
{ 0 } - {fz(xllxz) ) hy |°
@ If J(x1,x7) is nonsingular then we can solve for [k, 1]

1] (4523 ]
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Newton’s method for systems of nonlinear equations (cont’d)

@ Newton’s method for the system of nonlinear equations is
defined as follows: fork =0,1,- - -,

k+1 [ (k k
SR I N
1t 2 g

with (k) 7 (k) (k)
k) Gy | h” | | Al LX)

X, x =— )
J(xy 7, xp7) l el [fz(xgk),xgk))

@ Exercise:

Solve the following nonlinear system by using Newton’s
method with the initial guess x(¥) = (xgo), xéo) )T =(0,1)".
Perform two iterations.

{ 4X12 — XQZ = 0,

dx1x2 —x; =1
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Newton’s method for higher dimensional problems

@ In general, we can use Newton’s method for F(X) = 0, where
X = (xl,xz, e ,xn)T and F = (fler/ e ,fn)T.

@ For higher dimensional problem, the first derivative is defined
as a matrix (the Jacobian matrix)

X)) 9hX) . AKX
oxq ax T oxn
9h(X) afz( /1 0.9
DF(X):= | ™ ™ B3
hix x| e
oxq dxy Xy
@ Newton’s method: given X(©) = [xgo), o xl )] define

X1 — x4 )

where

DF(X¥)H® = —p(x®)),
which requires the solving of a large linear system of equations
at every iteration.
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Operations involved in Newton’s method

@ vector operations: not expensive.
@ function evaluations: can be expensive.
@ compute the Jacobian: can be expensive.

@ solving matrix equations (linear system): very expensive — topic
of the next chapter!
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Methods without using derivatives

@ “Finite difference Newton’s method” and “secant method.”

@ Basic idea:

f(x)

f'(x)

If f/(x) is too hard or too expensive to compute, we can use an
approximation.

X< X —

@ Questions: how to obtain an approximation? Do we lose the fast
convergence?
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Finite difference Newton’s method

@ Let /i be a small nonzero parameter, then

f(xn +h) —f(xn)
h

can be a good approximation of f'(x;).

@ FD-Newton’s method:

flxn+h) —f(xn)
(xn)

(2) compute x;,41 = x; — —

(1) computea =

—_—

@ Remarks:

(1) the method needs an extra parameter 1. What shall we use?
(2) the method needs two function evaluations per iteration.
(3) what is the convergence rate?
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Secant method

@ Since /i can be any small number in the FD-Newton’s method,
why don’t we simply use I = x;,, — x,,_1, which may be positive
or negative, but usually not zero.

@ Secant method:

fxn) —f(x”,l).

(1) computea =

@ Remarks:

(1) now we need only one function evaluation per iteration.

(2) x441 depends on two previous iterations. For example, to
compute xp, we need both x; and xo.

(3) how do we obtain x;? We need to use FD-Newton: pick a
small parameter i, compute ag = (f(xo +h) —f(x0))/h,
then x; = xg —f(XQ)/ao.
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Which of the three methods is better?

An example: f(x) = x> — 1, and we take xg = 2.0.

Stopping parameters: § = 10710, ¢ = 10710,
h =10~ in FD-Newton method.

Iter. | Newton FD-Newton Secant

X0 | 2.0 2.0 2.0

x1 | 1.25000000000000 | 1.25000001709125 | 1.25000001709125
xp | 1.02500000000000 | 1.02500001222170 | 1.07692308177740
x3 | 1.00030487804878 | 1.00030487955710 | 1.00826446381851
x4 | 1.00000004646115 | 1.00000004647732 | 1.00030487810437
x5 | 1.00000000000000 | 1.00000000000000 | 1.00000125445212
X6 1.00000000019120
X7 1.00000000000000

See the details of the M-files: comparisonnewton.m,

comparisonFDnewton.m,
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Convergence rates

@ If |h,| < Clx, — x*|, then the convergence of FD-Newton is
quadratic.

@ The convergence of secant method is superlinear (i.e., better than
linear). More precisely, we have (see Textbook, pp. 96-97)
lenia| < Clea| V92, (14 V5) /2~ 1.62 < 2.

@ Remark: when selecting algorithms for a particular problem,
one should consider not only the rate (order) of convergence,
but also the cost of computing f (x,) and f (x,).
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An informal convergence analysis of the secant method

Let e, := x, — x*. Under suitable assumptions, it can be shown that
en+1 ~ Ceyney—q (Textbook, p. 96) and h_r}n ey = 0 (cf. analysis for
n—oo

Newton’s method).

To discover the order of convergence, we assume that for large n,
sl ~ Alea|". Thus, lea] & Aleg 1| = len_1] & A~1/%]ey[1/5.
Mol 2 fensa| % [CllenlA~/%les [}/

. |en|“ ~ |C|/\_1/"“1\en|1+1/”‘

- |en|1x7171/rx ~ ‘C|)\71/1x71

" the right side of this relation is a nonzero constant while e, — 0
a—1—-1/0=0

a2 —a—1=0

a=5x162>0 O
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Steffensen’s method — method without using derivative

Steffensen’s method:

f(xn) f(xn +f(xn)) _f(xn).

=Xn — ’ h n) =
Xpi1 =X 2Gon) where g(xy) o)

Under suitable hypotheses, the method is quadratically convergent
(p- 90, # 4).

An informal convergence analysis: Assume that f € C2. By Taylor
expansion, we have

x 2
Flet£0) = )+ )+ L85 @),

for some ¢ between x and x + f(x). Therefore,

$0) 1= s )~} = )+ L5210 ), it ) 0.

. * _ f(x"> _ 1
Lete, := x, —x*. Then, e,11 = e, — 2o~ gCon) {eng(xn) —f(xn)}.
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Steffensen’s method (cont’d)

2
0= Fx) = £t — en) = Floxn) —enf () + Sf"(En),
for some ¢, between x;, and x,, — e,
2
o f(xn) —eng(xn) & —E"f"(én)

bt o L) (S
2 gl T 2 ()

(cf. analysis of Newton’s method). O

e2, provided x, ~ x*)

Remarks:

@ Bisection algorithms is global, and all the other Newton-type
algorithms are local.

@ Local algorithms are often fast, and global algorithms are often
slow.
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Fixed points

@ A function F : x — F(x) is often called a mapping from x to F(x)
(F takes an input value x and generates an output value F(x)).

If there is a point p, at which the output is the same as the input, then
that point is called a fixed point of F, i.e., p = F(p).
@ Finding the fixed points of F has many applications. For
example, if
f(x)
F(x) :=x— ,
AN 6

then the fixed point of F is simply the root of f(x) = 0.

“root-finding problem” = “fixed point problem”
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Fixed point iterations

@ Fixed point iterations:
x}’l+1:F(x71)l nzolll"'
Assume that F is continuous and 1Lm xy = p. Then
n—oo
Flp) = F( g, xa) = Jimg, F(rn) = i, 21 =P

Therefore, p is a fixed point of the function F.
@ The following three fixed point iterations can be considered for

solving x> —x — 5 = 0:

Xnl = F(xn)/ n=20,1,---, where

(1) F(x) =«®—5.
(2) F(x) = (x+5)15.
Do the iterations converge?
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A fixed point theorem

@ IfF € Cla,b] and F(x) € [a,b], ¥ x € [a,b], then F has a fixed point in
[a, b].

@ If, in addition, F exists on (a,b) and 30 < k < 1 such that
|F'(x)| <k, ¥V x € (a,b), then the fixed point is unique in [a, b].

@ Then, for any xg € [a,b] and x,, 11 := F(x,), n > 0, the sequence
converges to the unique fixed point p € [a, b] and
(1) |xn —p| < K'max{xo—a,b—x},Vn>1;
) |xn—pl < %{\xl —xo|,Vn>1
Proof.
@ IfF(a) = aor F(b) = b then F has a fixed point in [a, b]. Suppose not, then
a < F(a) <banda < F(b) < b. Define H(x) := F(x) — x. Then H is continuous

on [a,b] and H(a) > 0, H(b) < 0. By the Intermediate Value Theorem, 3 p € (a,b)
such that H(p) = 0,ie,F(p) =p. O

@ Suppose that 3p < g € [a,b] are fixed points of F. Then F(p) pand F(q) =q.
By the Mean Value Theorem, 3 ¢ € (p, g) such that Ha)-F(p) ) p ) = p (¢) =
% =|F@)|<k<l=1= 12751 <k<1l Th1s is a contradiction.
Therefore, the fixed point is unique. [
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Proof of the fixed point theorem (cont’d)

@ Forn > 1, by the Mean Value Theorem, 3 § € (a, b) such that
0 < [xn —p| = [F(xn-1) — F(p)| = [F'(O)l|xn-1 — p| < klxy-1—pl.
=0 < |1y —p| <Kxuor —pl <Klan2—p| <o <K'xo —pl.
= lim [x, —p| =0« lim x, —p =0« lim x, =p.
n—oo n—00 n—oo
(1) " |xn —p| <K'|xg—p|and p € [a,b]
S —pl < K'max{xg —a,b—xp},Vn>1
(2) Forn>1,
[%n1 = xu| = [F(xn) = F(xtu—1)| < k|2 —xp-1| < - < K'xq — Xol-
.Form >n > 1, we have

‘xm - xn‘ = ‘xm —Xm—1 + X1 — X2+ 0+ Xy — xn‘
‘xm - xm71| + |xm—l - xm—ZI +--+ |xn+l - xn‘
K™ — xo| + K" 2%y — x| + - -+ + K ag — xo]

k"(1+k+"'+k”17n71)|X1 7)(0"

A

IA

o lim x, =
n—00 " p " . 1
Slp = x| = o — x| <K xg = xol ;}kl =K' —xol
(. geometric series with 0 < k < 1) -
cp—x| < &l —x| O
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Contractive mappings

@ Definition: A mapping (function) F is said to be contractive if
30 < A < 1suchthat |F(x) — F(y)| < Alx —y|, for all x,y in the
domain of F.

@ Note: In the above theorem, F is contractive on [, b].
@ Example: F(x) =4+ % sin(2x) is contractive on R.
1 . .
[F(x) =E(y)] = 3lsin(2x) —sin(2y)]
2
= Zcos20)lx ]

< 2yl
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Contraction mapping principle

Let F be a contractive mapping from a complete metric space X C R into
itself. Then F has a unique fixed point p and the sequence {x, } generated by
Xp41 = F(x,), n > 0, converges to p for any xy € X.

Proof:
@ show that {x,} converges;
o let nh_r}rolo xn = p. Then F(p) = p;

@ show that p is unique. [

Note: Let X be a closed subset of R. Then X is a complete metric space.
Example: closed subsets of R: [4, 1], R, etc.
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Error analysis

@ Assume that F’ exists and continuous. Consider the fixed point
iterations,
Xp+1 = F(xn)r n = 0.

Assume that {x, } converges to p (p is a fixed point). Let

ey 1= xy — p. Then, by MVT, we have

ent1 = Xp1 — P = F(xu) — F(p) = F'(Gn) (xn — p) = F'(Cn)en,

for some &, between x, and p. The condition |F/(x)| < 1 for all x
ensures that the errors decrease in magnitude. If e, is small then
&nisnear p, and F'(&,) ~ F'(p).

@ One would expect rapid convergence if F'(p) is small. Ideally,
F'(p) =0.
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Error analysis (cont’d)

@ Assume that F¥)(p) = 0 for 1 < k < rbut F)(p) # 0. Then

€nt1

Xpp1—p = F(xn) — F

(p) =F(p+en) — F(p)

62
{F )+ e (p) + ZF" () -+ e F (G0} — F(p)

62
enF'(p) + 2F'(p) + - - -

2

v

LFO) (G,

r

e

r—1
€n

(r—1)

+ s E N )+ SEO G

@ If we know that the method converges and F(") is continuous

then

lim |ei’l+]|
n—00 |en|r

1 r
= IEOp)|

and the method converges with order r.
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Newton’ method

Newton’ method: F(x) = x ;,((};)) ,f(p) =0andf'(p) #0,F(p) =p.
pr -1 ) AR )

(f(x))? -~ (f()?

() - WD) 4 (0 = (7" () (" ()
10 (' (x))*

_SWp

“Fn 7

.. under suitable assumptions,
the order (rate) of convergence of Newton’s method is 2

.. we usually have F” (p)
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Roots of polynomials

@ A general polynomial:
p(z) = anz" +a, 12" 1+ -+ 0922 + ayz' + ag, where
coefficientsa; € C,i =0,1,- - - ,n. If a;, # 0 then we say
degree(p) = n.

@ Fundamental Theorem of Algebra: Every nonconstant polynomial
has at least one root in C.
(<= A polynomial of degree n has exactly n roots in C).

@ If p is a polynomial whose coefficients are all real, a; € RV i,

then its roots may be complex and if w = wy + iwy is a complex
root then its conjugate w := w; — iw; is also a root.

In what follows, we consider polynomials with real coefficients.
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Horner’s algorithm

Newton’s method: z,q :=zx — p(zi) k=0,1,2,....

P ()’
We need function evaluations p(zx) and p’(zx) in Newton’s method.

@ Given a polynomial p(z) = a,z" +a, 1z" ' + -+ +a;z' +ap and
zp € R. Horner’s algorithm will produce the number p(zp) and
the polynomial q(z) such that p(z) = (z — 29)q(z) + p(20)-

@ Assume thatq(z) = b, 12" ' +b, 22" 2+ -+ byz' +by. Then
we have b 1 = ay, b 2 =0ay_1 +Zobn_1, teey, bo =m +Zob1,
p(z0) = p(z) — (z— 20)q(2) = ao + zobo.

@ Synthetic division: (4% & FR1%)

an an—1 an—2 - a0
4 zoby_1  zobp—2 -+ zZobo
‘ by bn—2 bpz - by <« P(ZO)

We have p(zp) =b_q
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Example

Let p(z) = z* — 425 4 72% — 5z — 2. Evaluate p(3).

1 4 7 5 -2
3 3 -3 12 21

T 1 4 7 19 «p(3)

p(8)=19,q9(z) =2° — 22 + 4z +7,and
p(z) = (z—3)(z2® =22 +4z+7) + 19.
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Complete Horner’s algorithm
Given p(z) = ayz" +a, 12" '+ - - +apz* + a1z +ag and zg € R.
We wish to find ¢;,i = 0,1, - - - ,n such that

p(z) = ca(z—20)"+eu1(z—20)" "+ +a(z—2)" +co.

p®) (zo)
k-

If so, by Taylor Theorem, we know that ¢, =
~.p(z0) = coand p'(z0) = ¢1 = q(20)
.. We can apply Horner’s algorithm again to g(z) with point zg

Repeat this process, we can obtainc;, i = 0,1, - - , 1.
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Example

Letp(z) = z* — 423 + 722 — 5z — 2 and zy = 3.

1 4 7 5 2
3 3 3 12 21
1 -1 4 7 19 < p(3)
3 3 6 30
1 2 10 37 <« p(3)
3 3 15
1 5 25
3 3
T 8
p(3) =19,p'(3) = 37 and
p(z) = 1(z—3)* +8(z— 3)3 +25(z — 3)> +37(z = 3)' + 19
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Newton’s method with Horner’s algorithm

program horner(n, (a;: 0 <i<n),zupB)
o 4 ay
g+ 0
fork=n—-1:-1:0do
B a+zB
o < ag + zZox
end do
output a(= p(z0)), B(=p'(20))

program newton (1, (a; : 0 <i<mn),zg,M,J)
fork=1:1:Mdo
call horner(n, (a;: 0 <i<mn),zpup)
z1 ¢ zp— /P
output o, B, z;
if |z1 — 29| < J then stop
Zo < 21
end do
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Basic idea of continuation method (ZE#7%)

The basic idea of the continuation method is to embed the given
problem in a one-parameter family of problems, using a parameter ¢
that runs over [0, 1], such that for t = 1 we have the original problem,
while for t = 0 we have another problem with known solution.

Below is an example:

@ Consider a root-finding problem: f(x) = 0. We extend the
problem to a one-parameter family of problems:

h(t, x) = tf(x) + (1 — t)g(x),
where t € [0,1] and g(x) is given and have a known zero, say x.
@ Select points 0 =ty < t; < -+ < tp_1 <ty = 1. We then solve
each equation h(t;,x) =0,i=0,1,-- - ,m. We say each solution
x;,i=0,1,---,m.
@ Assume that some iterative method such as Newton’s method is

used to solve h(t;, x) = 0, we use the solution x; 1 of
h(t;_1,x) = 0 as the starting point.
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Homotopy ([7]ff)

Definition: Let X and Y be two topological spaces and f,g : X — Y be two
continuous functions. A homotopy between f and g is defined to be a
continuous function h : [0,1] x X — Y such that, for all points x € X,
h(0,x) = g(x) and h(1,x) = f(x). If such a map exists, we say that f is
homotopic to g.

A simple example that is often used in continuation method is

h(t,x) = tf (x) + (1 =) (f(x) = f(x0)),

-

=g(x)

where x( can be any point in X.
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Homotopy continuation method

@ If h(t,x) = 0 has a unique solution for each t € [0, 1], then the
solution is a function of ¢, and we write x(f) € X. The set
{x(t) : 0 < t < 1} can be interpreted as a curve in X. The
continuation method attempts to determine this curve by computing
points on it, x(tg), x(t1), - - - , x(tm).

@ Homotopy continuation method: Assume that x(¢) and h(t, x)
are differentiable functions. Then

0="h(t,x(t)) = 0=he(t,x(t)) + he(t, x(t))x'(t)

-1
— X(t) = —(hx(t,x(t))> he(t, x(t)).

This is an ODE with a known initial value x(0), it can be solved
using numerical methods (cf. Chapter 8).

@ If necessary, we can apply Newton's iteration starting at the
point produced by the homotopy method to approximate the
solution of 1(1,x) = 0 one more time.
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Example

Let X = Y = R? and define

2 —3y2+3
s = [T wwer

A homotopy is defined by

ht, (xy) = Hfloy)+1-H(f(xy) —f(1L1))
= fluy) +4#(1,1)-f(1,1), te[01] (vy) € R

he(t, (x,y)) = wuﬂy_[giz>aﬂj?]_[2x_ﬁyy

)
(e = fan=| g |
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Example (cont’d)

' (E (%) = [DF(xy)] ' = M [ _; gi } '

The ODE is
iyl 1 x 6y 11 1 x + 42y
) |7 22y | -y 20 | [ 7|7 22162 | M-y |

with initial condition (x(0),y(0))" = (1,1)T. By the numerical

method for initial-value problem, we have an approximation solution

(—2.961,1.978) " of (x(1),y(1)) . We can use this approximation as
the initial guess in the Newton method:

k| (x¥,y®) LAY,y )l

0 | (-2.96100000000000, 1.97800000000000) | 0.14626611680427
1 | (-3.00025328131376, 2.00012057060499) | 0.00087135657948
2 | (-3.00000001019155, 2.00000000338437) | 0.00000003679978
3 | (-3.00000000000000, 2.00000000000000) | 0.00000000000000

See the details of the M-file: homot opynewton.m
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Theorem on continuously differentiable solution

[Ortega and Rheinboldt, 1970]

Iff : R" — R" is continuously differentiable and if || [Df (x)]!|| < M on
R", then for any xo € R" there is a unique curve {x(t) : 0 <t <1} in R"
such that f(x(t)) + (t = 1)f (xo) = 0,0 < t < 1. The function t — x(t) is
a continuously differentiable solution of the initial-value problem

¥/ (t) = —[Df (x)] " (xo), where (0) = xo.

Note:  #f(x()) + (1 —1) (f(x(t)) = f(x0)) = f(x(£)) + (£ = 1)f (x0)-
=g(x())

© Suh-Yuh Yang ( ), Math. Dept., NCU, Taiwan MA 8019: Nonlinear Equations — 58/58



